



**ON THE QUATERNARY FORMS $x^2 + y^2 + z^2 + 5t^2$,
 $x^2 + y^2 + 5z^2 + 5t^2$ AND $x^2 + 5y^2 + 5z^2 + 5t^2$**

AYŞE ALACA, ŞABAN ALACA and KENNETH S. WILLIAMS

Centre for Research in Algebra and Number Theory

School of Mathematics and Statistics

Carleton University

Ottawa, Ontario, Canada K1S 5B6

e-mail: kwilliam@connect.carleton.ca

Abstract

Simple proofs are given of the formulae for the number of representations of a positive integer by each of the three quaternary quadratic forms $x^2 + y^2 + z^2 + 5t^2$, $x^2 + y^2 + 5z^2 + 5t^2$ and $x^2 + 5y^2 + 5z^2 + 5t^2$.

1. Introduction

Let \mathbb{N} denote the set of positive integers and \mathbb{Z} denote the set of integers. Let $n \in \mathbb{N}$. Set $n = 2^\alpha 5^\beta N$, where $\alpha \in \mathbb{N} \cup \{0\}$, $\beta \in \mathbb{N} \cup \{0\}$, $N \in \mathbb{N}$ and $\gcd(N, 10) = 1$. In 1864 Liouville [11, 12] stated without proof formulae equivalent to

2000 Mathematics Subject Classification: 11E25.

Keywords and phrases: Liouville's formulae, Kloosterman's formulae, quaternary quadratic forms, representations.

The third author was supported by research grant A-7233 from the Natural Sciences and Engineering Research Council of Canada.

Received August 22, 2007

$$\begin{aligned}
N(1, 1, 1, 5; n) &:= \text{card}\{(x, y, z, t) \in \mathbb{Z}^4 \mid n = x^2 + y^2 + z^2 + 5t^2\} \\
&= \sum_{d|n} (-1)^{n+d} \left(\frac{5}{d}\right) d + 5 \sum_{d|n} (-1)^{n+d} \left(\frac{5}{n/d}\right) d
\end{aligned} \tag{1.1}$$

and

$$\begin{aligned}
N(1, 5, 5, 5; n) &:= \text{card}\{(x, y, z, t) \in \mathbb{Z}^4 \mid n = x^2 + 5y^2 + 5z^2 + 5t^2\} \\
&= \sum_{d|n} (-1)^{n+d} \left(\frac{5}{d}\right) d + \sum_{d|n} (-1)^{n+d} \left(\frac{5}{n/d}\right) d,
\end{aligned} \tag{1.2}$$

where $\left(\frac{5}{k}\right)$ ($k \in \mathbb{N}$) is the Legendre-Jacobi-Kronecker symbol for discriminant 5, that is

$$\left(\frac{5}{k}\right) = \begin{cases} 0, & \text{if } k \equiv 0 \pmod{5}, \\ 1, & \text{if } k \equiv 1, 4 \pmod{5}, \\ -1, & \text{if } k \equiv 2, 3 \pmod{5}. \end{cases}$$

Trivially $N(1, 1, 1, 5; 0) = N(1, 5, 5, 5; 0) = 1$. A year later Liouville [13] gave the formula

$$\begin{aligned}
N(1, 1, 5, 5; n) &:= \text{card}\{(x, y, z, t) \in \mathbb{Z}^4 \mid n = x^2 + y^2 + 5z^2 + 5t^2\} \\
&= 2(5^{\beta+1} - 3)\sigma(N), \quad \text{if } \alpha \geq 1,
\end{aligned}$$

but did not give a result when $\alpha = 0$. Again no proof was given. According to Dickson [6, Vol. 3, p. 232], Petr [20, p. 20] evaluated $N(1, 1, 1, 5; 8n)$ ($n \in \mathbb{N}$) in terms of the class-number of binary quadratic forms. Also according to Dickson [6, Vol. 3, p. 232], Petr [21] enumerated by the use of theta functions the solutions of $x^2 + y^2 + z^2 + 5t^2 = n$. In 1926 Kloosterman [10, p. 173] gave the following formula for $N(1, 1, 5, 5; n)$ ($n \in \mathbb{N}$), namely

$$N(1, 1, 5, 5; n) = \begin{cases} 2(5^{\beta+1} - 3)\sigma(N), & \text{if } \alpha \geq 1, \\ \frac{2}{3}(5^{\beta+1} - 3)\sigma(N) + \frac{8}{3}c(n), & \text{if } \alpha = 0, \end{cases} \tag{1.3}$$

where $c(n)$ ($n \in \mathbb{N}$) is given by

$$q \prod_{n=1}^{\infty} (1 - q^{2n})^2 (1 - q^{10n})^2 = \sum_{n=1}^{\infty} c(n) q^n, \quad (1.4)$$

and

$$\sigma(n) = \sum_{\substack{d \in \mathbb{N} \\ d|n}} d, \quad n \in \mathbb{N}.$$

(If $n \notin \mathbb{N}$, then we set $\sigma(n) = 0$.) Trivially $N(1, 1, 5, 5; 0) = 1$. Kloosterman did not give his proof of (1.3) and remarked that the proof is *very complicated* [10, p. 173]. The first published proof of (1.3) was given by Lomadse [14, Satz 1(a), p. 152] and the first proof of (1.1) by Demuth [5, pp. 245-247]. Proofs of (1.1)-(1.3) were given in Petersson's book [19, Satz 11.1, p. 107; Satz 11.2, p. 108]. Proofs can also be given using Ramanujan's modular equations of degree 5 as given by Berndt in [3, Part III, Chapter 9; Part V, Chapter 36]. Our purpose in this paper is to give simple proofs of (1.1)-(1.3) based upon an identity of Bailey [1] and some modular equations of degree 5 given by Ramanujan [22], which were proved by Berndt [3, Part III]. Berkovich [2] of the University of Florida has informed the third author that he and Hamza Yesilyurt have also given proofs of (1.1) and (1.2).

2. Notation

Let q denote a complex number with $|q| < 1$. For $k \in \mathbb{N}$ we define

$$E_k = E_k(q) := \prod_{n=1}^{\infty} (1 - q^{kn}). \quad (2.1)$$

The theta functions $\varphi(q)$ and $\psi(q)$ are defined by

$$\varphi(q) = \sum_{n=-\infty}^{\infty} q^{n^2} \quad (2.2)$$

and

$$\psi(q) = \sum_{n=0}^{\infty} q^{n(n+1)/2}. \quad (2.3)$$

The infinite product representations of $\varphi(q)$ and $\psi(q)$ are due to Jacobi [9], namely

$$\varphi(q) = \frac{E_2^5}{E_1^2 E_4^2} \quad (2.4)$$

and

$$\psi(q) = \frac{E_2^2}{E_1}, \quad (2.5)$$

see for example [8, p. 284]. As

$$E_k(-q) = \begin{cases} E_k(q), & \text{if } k \text{ is even,} \\ \frac{E_{2k}^3(q)}{E_k(q)E_{4k}(q)}, & \text{if } k \text{ is odd,} \end{cases} \quad (2.6)$$

we deduce from (2.4)-(2.6)

$$\psi(-q) = \frac{E_1 E_4}{E_2} \quad (2.7)$$

and

$$\varphi(-q) = \frac{E_1^2}{E_2}. \quad (2.8)$$

In the notation of Berndt [3, Part III, pp. 36, 37] we have

$$\chi(-q) = \frac{E_1}{E_2}, \quad f(-q) = E_1. \quad (2.9)$$

Thus, by (2.6), we have

$$\chi(q) = \frac{E_2^2}{E_1 E_4}, \quad f(q) = \frac{E_2^3}{E_1 E_4}. \quad (2.10)$$

3. Ramanujan's Modular Equations of Degree 5

Ramanujan [22, Entry 19, p. 295] asserted that (with q replaced by $-q$)

$$\psi^2(q) - 5q\psi^2(q^5) = \frac{\varphi^2(-q)}{\chi(-q)\chi(-q^5)}. \quad (3.1)$$

A proof has been given by Berndt [3, Part V, p. 366]. Appealing to (2.4)-(2.7) and (3.1), we obtain

$$\frac{E_2^4}{E_1^2} - 5q \frac{E_{10}^4}{E_5^2} = \frac{E_1^3 E_{10}}{E_2 E_5}. \quad (3.2)$$

Multiplying both sides of (3.2) by $E_1^2 E_2 E_5^2$, we have

Theorem 3.1.

$$E_2^5 E_5^2 - 5q E_1^2 E_2 E_{10}^4 = E_1^5 E_5 E_{10}.$$

Ramanujan [22, Entry 18, p. 295] also asserted (with q replaced by $-q$)

$$\psi^2(q) - q\psi^2(q^5) = \frac{f(-q^5)\phi(-q^5)}{\chi(-q)}. \quad (3.3)$$

A proof is given in [3, Part V, pp. 365-366]. Appealing to (2.5)-(2.7) and (3.3), we obtain

$$\frac{E_2^4}{E_1^2} - q \frac{E_{10}^4}{E_5^2} = \frac{E_2 E_5^3}{E_1 E_{10}}. \quad (3.4)$$

Multiplying both sides of (3.4) by $E_1^2 E_5^2 E_{10}$, we have

Theorem 3.2.

$$E_2^4 E_5^2 E_{10} - q E_1^2 E_{10}^5 = E_1 E_2 E_5^5.$$

Our next theorem is also due to Ramanujan [22].

Theorem 3.3.

$$\phi^2(q) - \phi^2(q^5) = 4q \frac{E_2^2 E_5 E_{20}}{E_1 E_4}.$$

Proof. Ramanujan asserted and Berndt [3, Part III, p. 258] proved that

$$\phi^2(q) - \phi^2(q^5) = 4q\chi(q)f(-q^5)f(-q^{20}).$$

By (2.9) and (2.10) we obtain

$$\chi(q)f(-q^5)f(-q^{20}) = \frac{E_2^2}{E_1E_4} E_5E_{20}$$

and the asserted result follows.

Theorem 3.4.

$$\varphi^2(q) - 5\varphi^2(q^5) = -4 \frac{E_1E_4E_{10}^2}{E_5E_{20}}.$$

Proof. From [3, Part III, p. 259] we have

$$5 \frac{\varphi^2(q^5)}{\varphi^2(q)} - 1 = 4 \frac{\chi(q^5)}{\chi^5(q)}.$$

Thus

$$\varphi^2(q) - 5\varphi^2(q^5) = -4 \frac{\chi(q^5)}{\chi^5(q)} \varphi^2(q).$$

By (2.4) and (2.10) we deduce

$$\frac{\chi(q^5)}{\chi^5(q)} \varphi^2(q) = \frac{E_1E_4E_{10}^2}{E_5E_{20}},$$

and the asserted result follows.

4. Bailey's Identity

The identity of Theorem 4.1 is implicit in the work of Bailey [1, eqs. (4) and (5)], who obtained it from a formula for the difference of two values of the Weierstrass \wp -function. Dobbie [7] has given an elementary proof of Bailey's identity.

Theorem 4.1. *Let a and b be complex numbers such that $a \neq 0$, $b \neq 0$, $a \neq b$, $ab \neq 1$, $a \neq q^n$ for any integer n and $b \neq q^n$ for any integer n .*

Then

$$\begin{aligned} & \prod_{n=1}^{\infty} \frac{(1-abq^n)(1-a^{-1}b^{-1}q^n)(1-ab^{-1}q^n)(1-a^{-1}bq^n)(1-q^n)^4}{(1-aq^n)^2(1-a^{-1}q^n)^2(1-bq^n)^2(1-b^{-1}q^n)^2} \\ &= 1 + \frac{(1-a)^2(1-b)^2}{(a-b)(1-ab)} \sum_{n=1}^{\infty} \left(\sum_{d|n} (a^d + a^{-d} - b^d - b^{-d})d \right) q^n. \end{aligned}$$

Let $\omega = e^{2\pi i/5}$ so that

$$\omega^5 = 1, \quad \omega + \omega^2 + \omega^3 + \omega^4 = -1 \quad (4.1)$$

and

$$\omega^d - \omega^{2d} - \omega^{3d} + \omega^{4d} = \left(\frac{5}{d}\right)\sqrt{5}, \quad d \in \mathbb{N}. \quad (4.2)$$

We choose $a = -\omega$ and $b = -\omega^2$ in Bailey's identity. As

$$\begin{aligned} a^d + a^{-d} - b^d - b^{-d} &= (-1)^d (\omega^d - \omega^{2d} - \omega^{3d} + \omega^{4d}) \\ &= (-1)^d \left(\frac{5}{d}\right)\sqrt{5}, \quad d \in \mathbb{N}, \end{aligned}$$

$$\frac{(1-a)^2(1-b)^2}{(a-b)(1-ab)} = \frac{1}{\sqrt{5}},$$

and

$$\begin{aligned} & \prod_{n=1}^{\infty} \frac{(1-abq^n)(1-a^{-1}b^{-1}q^n)(1-ab^{-1}q^n)(1-a^{-1}bq^n)(1-q^n)^4}{(1-aq^n)^2(1-a^{-1}q^n)^2(1-bq^n)^2(1-b^{-1}q^n)^2} \\ &= \prod_{n=1}^{\infty} \frac{(1-\omega q^n)(1-\omega^2 q^n)(1-\omega^3 q^n)(1-\omega^4 q^n)(1-q^n)^4}{(1+\omega q^n)^2(1+\omega^2 q^n)^2(1+\omega^3 q^n)^2(1+\omega^4 q^n)^2} \\ &= \prod_{n=1}^{\infty} \frac{(1-q^{5n})(1-q^n)^3}{\left(\frac{1+q^{5n}}{1+q^n}\right)^2} \end{aligned}$$

$$\begin{aligned}
&= \prod_{n=1}^{\infty} \frac{(1-q^{5n})(1-q^n)^3(1-q^{2n})^2(1-q^{5n})^2}{(1-q^{10n})^2(1-q^n)^2} \\
&= \prod_{n=1}^{\infty} \frac{(1-q^n)(1-q^{2n})^2(1-q^{5n})^3}{(1-q^{10n})^2},
\end{aligned}$$

we obtain

Theorem 4.2.

$$\frac{E_1 E_2^2 E_5^3}{E_{10}^2} = 1 + \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \binom{5}{d} d \right) q^n.$$

Next we replace q by q^5 in Bailey's identity, and then take $a = -q$ and $b = -q^3$. We have

$$\begin{aligned}
&\prod_{n=1}^{\infty} \frac{(1-abq^{5n})(1-a^{-1}b^{-1}q^{5n})(1-ab^{-1}q^{5n})(1-a^{-1}bq^{5n})(1-q^{5n})^4}{(1-aq^{5n})^2(1-a^{-1}q^{5n})^2(1-bq^{5n})^2(1-b^{-1}q^{5n})^2} \\
&= \prod_{n=1}^{\infty} \frac{(1-q^{5n+4})(1-q^{5n-4})(1-q^{5n-2})(1-q^{5n+2})(1-q^{5n})^4}{(1+q^{5n+1})^2(1+q^{5n-1})^2(1+q^{5n+3})^2(1+q^{5n-3})^2} \\
&= \frac{(1+q)^2(1+q^3)^2}{(1-q^2)(1-q^4)} \prod_{n=1}^{\infty} \frac{(1-q^{5n-4})(1-q^{5n-3})(1-q^{5n-2})(1-q^{5n-1})(1-q^{5n})^4}{(1+q^{5n-4})^2(1+q^{5n-3})^2(1+q^{5n-2})^2(1+q^{5n-1})^2} \\
&= \frac{(1+q)^2(1+q^3)^2}{(1-q^2)(1-q^4)} \prod_{n=1}^{\infty} \frac{(1-q^n)(1-q^{5n})^3}{\left(\frac{1+q^n}{1+q^{5n}}\right)^2} \\
&= \frac{(1+q)^2(1+q^3)^2}{(1-q^2)(1-q^4)} \prod_{n=1}^{\infty} \frac{(1-q^n)^3(1-q^{5n})(1-q^{10n})^2}{(1-q^{2n})^2}.
\end{aligned}$$

Also

$$\frac{(1-a)^2(1-b)^2}{(a-b)(1-ab)} = -\frac{(1+q)^2(1+q^3)^2}{(1-q^2)(1-q^4)}.$$

Then, by Theorem 4.1, we obtain

$$q \frac{E_1^3 E_3 E_{10}^2}{E_2^2} = q \frac{(1-q^2)(1-q^4)}{(1+q^2)(1+q^3)^2} - \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d (q^d + q^{-d} - q^{3d} - q^{-3d}) d \right) q^{5n}.$$

Now

$$\begin{aligned} \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d q^d d \right) q^{5n} &= \sum_{n=1}^{\infty} \sum_{d|n} (-1)^d d q^{d+5n} \\ &= \sum_{d,e=1}^{\infty} (-1)^d d q^{d+5de} \\ &= \sum_{d,e=1}^{\infty} (-1)^d d q^{(5e+1)d} \\ &= \sum_{d=1}^{\infty} \sum_{\substack{f=6 \\ f \equiv 1 \pmod{5}}}^{\infty} (-1)^d d q^{fd} \\ &= \sum_{d=1}^{\infty} \sum_{\substack{f=1 \\ f \equiv 1 \pmod{5}}}^{\infty} (-1)^d d q^{fd} - \sum_{d=1}^{\infty} (-1)^d d q^d, \end{aligned}$$

that is

$$\sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d q^d d \right) q^{5n} = \sum_{n=1}^{\infty} \left(\sum_{\substack{d|n \\ n/d \equiv 1 \pmod{5}}} (-1)^d d \right) q^n + \frac{q}{(1+q)^2}.$$

Similarly

$$\begin{aligned} \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d q^{-d} d \right) q^{5n} &= \sum_{n=1}^{\infty} \left(\sum_{\substack{d|n \\ n/d \equiv 4 \pmod{5}}} (-1)^d d \right) q^n, \\ \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d q^{3d} d \right) q^{5n} &= \sum_{n=1}^{\infty} \left(\sum_{\substack{d|n \\ n/d \equiv 3 \pmod{5}}} (-1)^d d \right) q^n + \frac{q^3}{(1+q^3)^2}, \\ \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d q^{-3d} d \right) q^{5n} &= \sum_{n=1}^{\infty} \left(\sum_{\substack{d|n \\ n/d \equiv 2 \pmod{5}}} (-1)^d d \right) q^n. \end{aligned}$$

Thus

$$\begin{aligned}
& \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d (q^d + q^{-d} - q^{3d} - q^{-3d}) d \right) q^{5n} \\
&= \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \left(\frac{5}{n/d} \right) d \right) q^n + \frac{q}{(1+q)^2} - \frac{q^3}{(1+q^3)^2} \\
&= \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \left(\frac{5}{n/d} \right) d \right) q^n + \frac{q(1-q^2)(1-q^4)}{(1+q)^2(1+q^3)^2}.
\end{aligned}$$

We have proved the following identity:

Theorem 4.3.

$$q \frac{E_1^3 E_5 E_{10}^2}{E_2^2} = - \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \left(\frac{5}{n/d} \right) d \right) q^n.$$

5. Evaluation of $N(1, 1, 1, 5; n)$

We use Theorems 3.1, 4.2 and 4.3 to determine $N(1, 1, 1, 5; n)$ ($n \in \mathbb{N}$).

Theorem 5.1. *Let $n \in \mathbb{N}$. Then*

$$N(1, 1, 1, 5; n) = \sum_{d|n} (-1)^{n+d} \left(\frac{5}{d} \right) d + 5 \sum_{d|n} (-1)^{n+d} \left(\frac{5}{n/d} \right) d.$$

Proof. We have

$$\begin{aligned}
& \sum_{n=0}^{\infty} N(1, 1, 1, 5; n) (-q)^n \\
&= \varphi^3(-q) \varphi(-q^5) \tag{by (2.2)} \\
&= \frac{E_1^6 E_5^2}{E_2^3 E_{10}} \tag{by (2.8)}
\end{aligned}$$

$$\begin{aligned}
&= \frac{E_1 E_5}{E_2^3 E_{10}^2} \cdot E_1^5 E_5 E_{10} \\
&= \frac{E_1 E_5}{E_2^3 E_{10}^2} (E_2^5 E_5^2 - 5q E_1^2 E_2 E_{10}^4) && \text{(by Theorem 3.1)} \\
&= \frac{E_1 E_2^2 E_5^3}{E_{10}^2} - 5q \frac{E_1^3 E_5 E_{10}^2}{E_2^2} \\
&= 1 + \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \binom{5}{d} d \right) q^n + 5 \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \binom{5}{n/d} d \right) q^n,
\end{aligned}$$

by Theorems 4.2 and 4.3. Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$(-1)^n N(1, 1, 1, 5; n) = \sum_{d|n} (-1)^d \binom{5}{d} d + 5 \sum_{d|n} (-1)^d \binom{5}{n/d} d$$

from which Theorem 5.1 follows.

6. Evaluation of $N(1, 5, 5, 5; n)$

We use Theorems 3.2, 4.2 and 4.3 to determine $N(1, 5, 5, 5; n)$ ($n \in \mathbb{N}$).

Theorem 6.1. *Let $n \in \mathbb{N}$. Then*

$$N(1, 5, 5, 5; n) = \sum_{d|n} (-1)^{n+d} \binom{5}{d} d + \sum_{d|n} (-1)^{n+d} \binom{5}{n/d} d.$$

Proof. We have

$$\begin{aligned}
&\sum_{n=0}^{\infty} N(1, 5, 5, 5; n) (-q)^n \\
&= \varphi(-q) \varphi^3(-q^5) && \text{(by (2.2))} \\
&= \frac{E_1^2 E_5^6}{E_2 E_{10}^3} && \text{(by (2.8))}
\end{aligned}$$

$$\begin{aligned}
&= \frac{E_1 E_5}{E_2^2 E_{10}^3} \cdot E_1 E_2 E_5^5 \\
&= \frac{E_1 E_5}{E_2^2 E_{10}^3} (E_2^4 E_5^2 E_{10} - q E_1^2 E_{10}^5) && \text{(by Theorem 3.2)} \\
&= \frac{E_1 E_2^2 E_5^3}{E_{10}^2} - q \frac{E_1^3 E_5 E_{10}^2}{E_2^2} \\
&= 1 + \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \binom{5}{d} d \right) q^n + \sum_{n=1}^{\infty} \left(\sum_{d|n} (-1)^d \binom{5}{n/d} d \right) q^n,
\end{aligned}$$

by Theorems 4.2 and 4.3.

7. Evaluation of $N(1, 1, 5, 5; n)$

We use Theorems 3.3 and 3.4 to determine $N(1, 1, 5, 5; n)$ ($n \in \mathbb{N}$).

Theorem 7.1. *Let $n \in \mathbb{N}$. Set $n = 2^\alpha 5^\beta N$, where $\alpha \in \mathbb{N} \cup \{0\}$, $\beta \in \mathbb{N} \cup \{0\}$, $N \in \mathbb{N}$ and $\gcd(N, 10) = 1$. Then*

$$N(1, 1, 5, 5; n) = \begin{cases} 2(5^{\beta+1} - 3)\sigma(N), & \text{if } \alpha \geq 1, \\ \frac{2}{3}(5^{\beta+1} - 3)\sigma(N) + \frac{8}{3}c(n), & \text{if } \alpha = 0, \end{cases} \quad (7.1)$$

where $c(n)$ ($n \in \mathbb{N}$) is given by (1.4).

Proof. By Theorems 3.3 and 3.4 we have

$$\begin{aligned}
&\varphi^4(q) - 6\varphi^2(q)\varphi^2(q^5) + 5\varphi^4(q^5) \\
&= (\varphi^2(q) - \varphi^2(q^5))(\varphi^2(q) - 5\varphi^2(q^5)) \\
&= 4q \frac{E_2^2 E_5 E_{20}}{E_1 E_4} \cdot \frac{-4E_1 E_4 E_{10}^2}{E_5 E_{20}} \\
&= -16q E_2^2 E_{10}^2.
\end{aligned}$$

Thus

$$\begin{aligned}
& \sum_{n=0}^{\infty} N(1, 1, 5, 5; n)q^n \\
&= \varphi^2(q)\varphi^2(q^5) \quad (\text{by (2.2)}) \\
&= \frac{1}{6}\varphi^4(q) + \frac{5}{6}\varphi^4(q^5) + \frac{8}{3}qE_2^2E_{10}^2 \\
&= \frac{1}{6}\sum_{n=0}^{\infty} N(1, 1, 1, 1; n)q^n + \frac{5}{6}\sum_{n=0}^{\infty} N(1, 1, 1, 1; n)q^{5n} + \frac{8}{3}\sum_{n=1}^{\infty} c(n)q^n, \quad (\text{by (1.4)})
\end{aligned}$$

where for $n \in \mathbb{N} \cup \{0\}$

$$N(1, 1, 1, 1; n) = \text{card}\{(x, y, z, t) \in \mathbb{Z}^4 \mid n = x^2 + y^2 + z^2 + t^2\}.$$

Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$N(1, 1, 5, 5; n) = \frac{1}{6}N(1, 1, 1, 1; n) + \frac{5}{6}N(1, 1, 1, 1; n/5) + \frac{8}{3}c(n).$$

Now it is a classical result of Jacobi [9] (see for example [4, p. 59]) that

$$N(1, 1, 1, 1; n) = 8\sigma(n) - 32\sigma(n/4), \quad n \in \mathbb{N}. \quad (7.2)$$

Hence

$$\begin{aligned}
N(1, 1, 5, 5; n) &= \frac{4}{3}\sigma(n) - \frac{16}{3}\sigma(n/4) + \frac{20}{3}\sigma(n/5) \\
&\quad - \frac{80}{3}\sigma(n/20) + \frac{8}{3}c(n), \quad n \in \mathbb{N}. \quad (7.3)
\end{aligned}$$

Set $n = 2^\alpha 5^\beta N$, where $\alpha, \beta \in \mathbb{N} \cup \{0\}$, $N \in \mathbb{N}$ and $\text{gcd}(N, 10) = 1$. Suppose first that $\alpha \geq 1$. From (1.4) we see that

$$c(n) = 0 \quad \text{for } n \equiv 0 \pmod{2}. \quad (7.4)$$

As

$$\sigma(n) = \sigma(2^\alpha)\sigma(5^\beta)\sigma(N) = \frac{1}{4}(2^{\alpha+1} - 1)(5^{\beta+1} - 1)\sigma(N)$$

we have

$$\begin{aligned} N(1, 1, 5, 5; n) &= \frac{1}{3}(2^{\alpha+1} - 1)(5^{\beta+1} - 1)\sigma(N) - \frac{4}{3}(2^{\alpha-1} - 1)(5^{\beta+1} - 1)\sigma(N) \\ &\quad + \frac{5}{3}(2^{\alpha+1} - 1)(5^\beta - 1)\sigma(N) - \frac{20}{3}(2^{\alpha-1} - 1)(5^\beta - 1)\sigma(N) \\ &= 2(5^{\beta+1} - 3)\sigma(N), \end{aligned}$$

which is the first part of Theorem 7.1. Now suppose that $\alpha = 0$. Then

$$\begin{aligned} N(1, 1, 5, 5; n) &= \frac{4}{3}\sigma(n) + \frac{20}{3}\sigma(n/5) + \frac{8}{3}c(n) \\ &= \frac{1}{3}(5^{\beta+1} - 1)\sigma(N) + \frac{5}{3}(5^\beta - 1)\sigma(N) + \frac{8}{3}c(n) \\ &= \frac{2}{3}(5^{\beta+1} - 3)\sigma(N) + \frac{8}{3}c(n), \end{aligned}$$

which is the second part of Theorem 7.1.

We conclude by giving a formula for $c(n)$ when $n \equiv 1 \pmod{2}$.

Theorem 7.2. *Let $n \in \mathbb{N}$ be odd. Then*

$$c(n) = \sum_{\substack{(a, b, c, d) \in \mathbb{Z}^4 \\ 6n = a^2 + 9b^2 + 5c^2 + 45d^2 \\ a \equiv c \equiv 1 \pmod{3} \\ a + b \equiv c + d \equiv 1 \pmod{2}}} (-1)^{b+d}.$$

Proof. It is known (see for example [18]) that

$$\prod_{n=1}^{\infty} (1 - q^n)^2 = \sum_{\ell=0}^{\infty} p_2(\ell) q^\ell,$$

where

$$p_2(\ell) = \sum_{\substack{(a, b) \in \mathbb{Z}^2 \\ 12\ell + 1 = a^2 + 9b^2 \\ a \equiv 1 \pmod{3} \\ a + b \equiv 1 \pmod{2}}} (-1)^b.$$

Thus

$$\begin{aligned}
 \sum_{n=0}^{\infty} c(2n+1)q^n &= \sum_{\substack{n=1 \\ n \equiv 1 \pmod{2}}}^{\infty} c(n)q^{(n-1)/2} \\
 &= \prod_{n=1}^{\infty} (1-q^n)^2 (1-q^{5n})^2 \\
 &= \left(\sum_{\ell=0}^{\infty} p_2(\ell)q^\ell \right) \left(\sum_{m=0}^{\infty} p_2(m)q^{5m} \right) \\
 &= \sum_{n=0}^{\infty} \left(\sum_{\substack{\ell, m \geq 0 \\ \ell+5m=n}} p_2(\ell)p_2(m) \right) q^n
 \end{aligned}$$

so that

$$\begin{aligned}
 c(2n+1) &= \sum_{\substack{\ell, m \geq 0 \\ \ell+5m=n}} p_2(\ell)p_2(m) \\
 &= \sum_{\substack{\ell, m \geq 0 \\ \ell+5m=n}} \sum_{\substack{(a,b) \in \mathbb{Z}^2 \\ 12\ell+1=a^2+9b^2 \\ a \equiv 1 \pmod{3} \\ a+b \equiv 1 \pmod{2}}} (-1)^b \sum_{\substack{(c,d) \in \mathbb{Z}^2 \\ 12m+1=c^2+9d^2 \\ c \equiv 1 \pmod{3} \\ c+d \equiv 1 \pmod{2}}} (-1)^d \\
 &= \sum_{\substack{(a,b,c,d) \in \mathbb{Z}^4 \\ 12n+6=a^2+9b^2+5(c^2+9d^2) \\ a \equiv c \equiv 1 \pmod{3} \\ a+b \equiv c+d \equiv 1 \pmod{2}}} (-1)^{b+d},
 \end{aligned}$$

which is the asserted result.

It is known from the theory of modular forms that $c(n)$ is multiplicative, that

$$c(5^n) = (-1)^n, \quad n \in \mathbb{N} \cup \{0\},$$

and that for a prime $p \neq 2, 5$

$$c(p^{n+2}) = c(p)c(p^{n+1}) - pc(p^n), \quad n \in \mathbb{N} \cup \{0\},$$

see for example [15], [16] and [17].

References

- [1] W. N. Bailey, A further note on two of Ramanujan's formulae, *Quart. J. Math. (Oxford) (2)* 3 (1952), 158-160.
- [2] A. Berkovich, Private Communication, June 2007.
- [3] B. C. Berndt, Ramanujan's Notebooks, Springer-Verlag, New York, Part I (1985), Part II (1989), Part III (1991), Part IV (1994) and Part V (1998).
- [4] B. C. Berndt, Number theory in the spirit of Ramanujan, Amer. Math. Soc., Providence, Rhode Island, 2006.
- [5] P. Demuth, Die Zahl der Darstellungen einer natürlichen Zahl durch spezielle quaternäre quadratische Formen aufgrund der Siegelschen Massformel, *Studien zur Theorie der quadratischen Formen*, B. L. van der Waerden und H. Gross, eds., Birkhäuser Verlag, Basel und Stuttgart, 1968, pp. 224-254.
- [6] L. E. Dickson, History of the Theory of Numbers, Vols. 1-3, Chelsea, New York, 1966.
- [7] J. M. Dobbie, A simple proof of some partition formulae of Ramanujan's, *Quart. J. Math. (Oxford) (2)* 6 (1955), 193-196.
- [8] G. H. Hardy and E. M. Wright, An Introduction to the Theory of Numbers, Fourth Edition, Clarendon Press, Oxford, 1960.
- [9] C. G. J. Jacobi, *Fundamenta Nova Theoriae Functionum Ellipticarum*, Regiomonti, 1829. (Gesammelte Werke, Vol. I, Chelsea, New York, 1969, pp. 49-239.)
- [10] H. D. Kloosterman, On the representation of numbers in the form $ax^2 + by^2 + cz^2 + dt^2$, *Proc. London Math. Soc.* 25 (1926), 143-173.
- [11] J. Liouville, Sur la forme $x^2 + y^2 + z^2 + 5t^2$, *J. Math. Pures Appl.* 9 (1864), 1-12.
- [12] J. Liouville, Sur la forme $x^2 + 5(y^2 + z^2 + t^2)$, *J. Math. Pures Appl.* 9 (1864), 17-22.
- [13] J. Liouville, Sur la forme $x^2 + y^2 + 5z^2 + 5t^2$, *J. Math. Pures Appl.* 10 (1865), 1-8.
- [14] G. Lomadse, Über die Darstellung der Zahlen durch einige quaternäre quadratische Formen, *Acta Arith.* 5 (1959), 125-170.
- [15] Y. Martin, Multiplicative η -quotients, *Trans. Amer. Math. Soc.* 348 (1996), 4825-4856.

- [16] M. Newman, Modular forms whose coefficients possess multiplicative properties, *Ann. Math.* 70 (1959), 478-489.
- [17] M. Newman, Modular forms whose coefficients possess multiplicative properties II, *Ann. Math.* 75 (1962), 242-250.
- [18] M. Newman, Some powers of the Euler product, *Analytic number theory* (Allerton Park, IL., 1989), *Progr. Math.*, Vol. 85, Birkhäuser Boston, Boston, MA, 1990, pp. 405-411.
- [19] H. Petersson, *Modulfunktionen und quadratische Formen*, Springer-Verlag, Berlin, Heidelberg, New York, 1982.
- [20] K. Petr, O počtu tříd forem kvadratických záporného diskriminantu, *Rozpravy České Akademie Cisare Frantiska Josefa I* 10 (1901), 1-22.
- [21] K. Petr, Über die Klassenzahl der quadratischen Formen mit negativer Discriminante, *Bull. Internat. de l'Acad. des Sciences de Bohème (Prague)* 7 (1903), 180-187.
- [22] S. Ramanujan, *Notebooks*, Vols. 1-2, Tata Institute of Fundamental Research, Bombay, 1957.